@-10 NO. 1600U-M Series CONCEALED DOOR CLOSER INSTALLATION INSTRUCTION
Suitable for RH/LH USE

N-N

Closing Solutions

Parts & Assemble

NO Parts QTY||NO Parts QTY
@ | Body 1 || @D | Washer 1
@ Fixing plate 2 @ @Gountersnnk screw M5x15 4
@ | Main amm 1 (E) PWooder screw3/16"x1" 4
@ | Track 1 449 | PCountersunk screw M5x8 4
®) | Sliding part 1 45 | DCountersunk screw M5x15 4
® | Hold open Spring plate 1 1® | @Wooder screw3/16"x1" 4
@ Hold open Fixing part 1 @ (OWrench 4mm 1
©Fixing screw M8 1 || 48| Cover plate 1
@ | OWrench 5m 1 || @@ | PCountersunk screw M5x4.1 2
0 | PCountersunk screw M5x12 1

Speed adjustment

Closing angle

/CD Installation and fixing of the body.

®3/16"x1"

©M5x4.1

The screw holes for the
Mb5xp0.8 screws should
be chamfer.

iSliding part

Hold open Spring plate
Hold open Fixing part

& @®3/16"x1"

-

\

@ Attach the main arm to the axis of the body

and tighten the screw firmly

-

@ Connect the main arm to the sliding part in the track and

tighten the fixing screw.

© Fixing screw M8 ———

N
®

Opening angle and closing speed adjustment

Adjust the hold open fixing part to the desired hold open angle.
Adjust the closing speed by the two valves on the top.




INNO09HII-V-G0-8} uedep  BxesQ “pi] 00 BMUSM ® '3'0 8 3

v-v

oo B o

o8ury

SIXGA¥
X8 L/E-

e

\/

a8uig

i

:\

|

|

Iy

|

i

I
fg\

|

&\
B.d
@)

L

ge

GIX9N¥
WHXGLEY

14

AN

\}t_\.
\

ower ]
100(]

Buiuado puey by &

82 82 S0l
8el &2 627 81
ole Ole
80v 807
(uonejrejsul qurel doj ) (uoneyrelsul quel doy )
Buiuado puey Wby & Buiuedo puey yo &

N ger = 5P L& i Bar N
%y %1 " § i @r > v / %o mx

| | e il e s A | = :

| ! ) 3 | @W/ % ,f % | j
oEn.@ooo o, =+ " o Hﬁ # : = ; 23N ) nEz._muooo

@HMHHHHHNMHHHHHHHHHHHHHMMHMHHHHHH\%M >>>>> 2 N <

/// S\ ¢ “ Z \\\

, L o9y (IXQLEY - X0/ 08y 7 ,

SIXaN-¥ SIXGN-¥
80y 80V
8 /82 /8¢ 8
NS R e - V — R ()T SR A
O @7 e —— Wi Y | E——— 2 cHCa
; i = ] VNS * 4
oBuTy 501 o 0/2 - - 9/2 o 501
0 Olg

Buiuedo puey yo1 &
18S0|D 100(] pojedouUo)




